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MATHEMTICS

Xy +1=y

Put, yin (2)

Xy +1- %( =1
Xyz =1
2. 40% discount on Rs.1000 = Rs.400 ------------- (2)

Equivalent discount of successive discounts 30% & 10% is

(30+10 _30x 10] %

100
37%
37% discount on Rs.1000 = Rs.370 ------------- (2)

(1) — (2) —Rs.30

3. Circum radius R = 9
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( 2 —1)2 +(2—x)2 = (x2 +1)2
a? + b? =c?
Right angled Triangle

20 s+ 5x6+2-10

100-3+10 =107

Vsec?q + cosec?q

= Vsec2q —1+cosec?q—1+2

= Ytan2q +cot?q + 2

(tan q + cotq )2

tan g + cot g

Let length of wire be =1

4a = |

a=l

2pr =1

Circle is bigger

s A=65"; /B =55°

/ C =115°
/D =125°

1 .
Volume of small cone = > volume of big cone

P=kw?

Let 1 kg diamond cost be Rs.2000
then

2000 = k.i? = k = 2000

P=7500  Price of 1/ kgis 7500 Loss =2000 - (2 X 500 ) = Rs.1000
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PHYSICS:

21. [ Power ] = [force X velocity ]
= [MLT?[LT Y] = mL?T 3
23.
p=v2Em .. &:\/ﬂ: N
p2 EZ sz 2 2
24. a=—F ,N=M2L=,/1x1=1:2
M; +M, M; +M, 2 2
25. X _2x-32
5 9
x =160
8
28. :l: 3x 10 —6x 10% Hz
| 5000 x 1071°
29. E, at 5cm=k %
5
=4:1
30. (2+3)Q||(4+6)Q:%Q
CHEMISTRY:
33. H, +Cl, = 2 HCI
2 1.2
.8 0 2.4

Here cl, is the limiting reagent. After the reaction the composition by vol.
of the resultant mixture will be 0.8 lit of hydrogen & 2.24 lit of hydrogen
chloride.

34. Higher the oxidation state of central atom higher the acidity.
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(1.88—1.35)gm =0.53gm
0.53 gm of oxygen reacts with 1.35 grm of ‘X’

1.35 x 16

16 gram oxygen with =40.75

Lig. NH,
NaCl -» Na' +Cl~
H,O = H* +OH"

At cathode 2H* + 2e = H,
Atanode 20H™ = HZOJF%O2 +2e

At medium NaOH will be presentand pH > 7

So, colour of the solution will turn yellow.
2 Pb (NO3), —2—> 2PO + 4NO, T + 0, *

CH; ~CH- CH, - CH, — CHj
CHj3

CH,

CH,

Oxygen is highly reactive that’'s why reaction with oxygen forms its oxide
and can not be used to extract a metal from its ore.

Radioactivity is a nuclear phenomenon that’s why it is not a periodic

property.

C
HC = CH + Cu,Cl, + 2NH,0H » | = C+2NH,Cl+2H,0
Cu

Cu

H,C = CH, +Cu,ClI, + 2NH,OH — No reaction

C* + 4H,0 =CH, +40H"~



